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(B, ) Arab Republic of Egypt SHITJE(N2)
Ministry of Education
General Secondary Education Certificate Examination — First Session 2022
[Third Year Secondary]

Statistics Time: 1% hours
(Al Al S i A AlaY)) Yor Y JaM el (A aladyl ) shasy!
( dada e gaal ué PR ) dplall AT N

Calculator is allowed

First : Choose the correct answer from those given

(1) In a statistical study to calculate the correlation coefficient ( r ) between
Students' level in Statistics (x) and Mathematics (y) of six students ,
it is found that: Y D®> = 3.5, where D is the difference between

the order of variables x and y , then the rank’s correlation coefficientr = .....

@ 01 ©® 09 (© -0.1 € -0.9

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................

(2) If the marks of students in a class in one of the examinations follows a normal
distribution whose mean 75 and standard deviation 5 , if one student get 80

marks in this exam, then its standard mark = ................

@ 0.5 ® 1 © 15 @ 2
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(3) If X is a normal random variable whose mean u and its standard deviation o,

then: P(u—%aﬁXSu-F-z-a):...

@ 04332 ®d 0.3830 (© 07062 (d  0.8664

1.0 0.3413
1.5 0.4332
2.0 0.4772
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...................................................................................................................................

(4) If the equation of the regression lineis ¥ = 3 + 0.4x , then

the Expected value of y when x =5 is .........
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(5) The correlation between two variables is a perfect inverse when the

correlation coefficientr €.........
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(6) If X is a discrete random variable whose range = {2,3,4 }andits
probability distribution function is given by the relation

k
f(x) = —991, then the value of k=.........
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(7) If the equation of the regression line is ¥ = 0.5x + 2, the
tabulated value of y is 3.4 when x =2 , then find the error of the value of y
when x =2
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P(B—A) = ..
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9)If A , B are two events in a sample space of a random experiment S
,P(A) =0.45 ,P(B) = 0.6 and P(4/B) =0.6 , then: P(B/A) =.....

@ 02 ®) 04 (o 0.6 G) 0.8
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(10) If A , B- are two independent events in a sample space of a random

experiment and P(4) = P(A"), P(AU B) = 0.8 , then then: P(B) =

(@) 03 ® 04 (© 0.5 ) 0.6
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(11) If Xis a discrete random variable whose range ={1,2,3,4 },

PX=1)=PX=4)=01 ,P(X=2)=03 ,thenP(X =3) = ....

...................................................................................................................................
...................................................................................................................................
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...................................................................................................................................
...................................................................................................................................

...................................................................................................................................

12) If X is a continuous random variable, its density function is:

i(2x+3) ,1<x<3

flx) =
zero  »Otherwise
,thenP(X =2)=......
3 4 1
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(13) If X is a discrete random variable whose probability distribution function

Xr 0 1 2 3

F(x) |01 |02 |03 | 04

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
R O O T R R R T e e R I I R ]
...................................................................................................................................

...................................................................................................................................

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

H(( Adelil) dadiall B ALY Ak y)*




(c.&v) -A- dsh/ Y/E (7 e0)

Second: Answer the following questions: -

14) If X is a continuous random variable, its density function is:

o) i(erk) ,0<x<2
x )=

zero »Otherwise

Then find the value of k.
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(15) Calculate Spearman’s rank correlation coefficient between x, y .

From the given data in the following table.

x | 21261192425 13

Ty | 45 | 35 | 44 | 28 | 40 | 25

Complete the following steps of solution

26 35
19 44
24 28
25 40
13 25 1 1 0

() B~ @)
N | Ly O
1
L

Sum
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(16) If X is a normal random variable whose mean {4 = 24 and variance

0%=25, then find: P(14 < X < 29)= ...

-~ Z | 00000

2.0 0.4772

2.2 0.4861
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17) Classroom with 100 students ,30 students study Mathematics, 20 students
study Physics, 10 students study both subjects, if a student has been randomly
chosen from this Classroom. Find the probability that the student study

Mathematics if he studies Physics.
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